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Choose the word that has the main stress placed differently from that of the others
from question 1 to 2:

Question 1: A. publish B. enough C. attend D. impress
Question 2: A. collect B. enjoy C. exchange D. travel

Choose the word or phrase (A, B, C or D) that best fits the numbered space in the
following passage from question 3 to 12:

SINGAPORE

Singapore is an island city-state of about 4.99 million people. It's a beautiful (3)
with lots of parks and open spaces. It's also a very (4) city. At 710.2 km?
Singapore is a microstate and the smallest nation in Southeast Asia.

Most of the people (5) in high rise flats in different parts of the island. The
business district is very modern with (6) of high new office buildings. Singapore
also has some nice older sections. In China town, there (7) rows of old shop
houses. The Government buildings in Singapore are very (8) and date from the
colonial days.

Singapore is famous (9) its shops and restaurants. There are many good
shopping centers. Most of the (10) are duty free. Singapore's restaurants
(11) Chinese, Indian, Malay and European food, and the (12) are quite
reasonable.

English, Malay, Tamil, and Chinese are the official languages.

Question 3: A, district B. village C. town D. city
Question 4: A. large B. big C. dirty D. clean
Question 5: A, lived B. live C. are living D. lives
Question 6: A. much B. lots C. lot D. many
Question 7: A.is B. are C. will be D. were
Question 8: A. beautiful B. beauty C. beautify D. beautifully
Question 9: A.in B. at C.on D. for
Question 10: A. goody B. good C. goods D. goodness
Question 11: A. selling B. sells C. sell D. sold
Question 12: A. prices B. priced C. pricer D. price

Choose the word that has the underlined part pronounced differently from that of the
others from question 13 to 14:

Question 13: A. line B. kind C. material D. primary
Question 14: A. convenient B. frequently C. prefer D. completely
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Choose the underlined word or phrase (A, B, C or D) that needs correcting from
question 15 to 19:

Question 15: Francesca said that she will see him the following year.

A. said B. will see C. him D. the following year
Question 16: Ba asked me if | was going to visit my aunt the day before

A. asked B. if C. was going to visit  D. the day before
Question 17: It was raining, so we didn’t go out to a walk.

A. was raining B. so C. didn’tgo D. to
Question 18: It is estimated that much of a teenager’s time is spend talking with friends.

A. is estimated B. that C. spend D. talking with
Question 19: Mai and me would like to join the English speaking club.

A. me B. would C.to D. speaking

Choose the word or phrase (A, B, C or D) that best fits the blank space in each
sentence from question 20 to 35:

Question 20: They work as a waiter on Saturday and Sunday evenings.

A. part-time B. sometime C. full-time D. all the time
Question 21: While going on her summer vacation, Helen took a lot of to show the
trip to her friends.

A. things B. signs C. photos D. pictures
Question 22: She invited us her family on a trip to Ha Noi.

A. to come B. to get C. to take D. to join

Question 23: They often go for a walk in the park early in the morning to enjoy the
air there.

A. salty B. strong C. fresh D. windy
Question 24: Many people go to amusement parks on weekends to after a hard
working day.

A. enjoy B. see C. watch D. relax
Question 25: We have known each other _ we were in a university.

A. since B. for C. while D. when
Question 26: | wish my village ___access to clean piped water.

A. had B. have C. has D. to have
Question 27: Gold _ in California in the nineteenth century.

A. was discovered B. were discovered

C. has been discovered D. discovered
Question 28: Homer is in jail for smoking marijuana (can sa). He that it was against
the law.

A. is telling B. was told C. told D. tells
Question 29: | wish the sun shining right now.

A.is B. are C. were D. would
Question 30: If the sky is clear, you can see the stars nights.

A. at B.in C.on D. when
Question 31: Raph said he was sure it g

A. will rain B. rains C. was going to rain  D. would be raining
Question 32: — Lam: “Hello. You must be Maryam”. — Maryam: * !

A. Yes, please B. That's right. lam C. No, | am Maryam D. Yes here’s Lan

Question 33: - Tom: “Would you like to go to the cinema with me this afternoon?”
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- Mary: “

A. I'm sorry to hear that B. That's a good idea
C. Thank you. It's very kind of you D. Yes, like
Question 34: — Nga: “Excuse me, is anybody sitting here?” — Daisy: *
A. No, thanks B. Yes, | am so glad
C. Sorry, the seat is taken D. Yes, yes. Just sit here
Question 35: — David: “Happy new year!” - Hoa: “ !
A. Happy new year! B. Of course. C. You too. D. The same to you.

Choose the sentence (A, B, C or D) which is closest in meaning to the bold one from
question 36 to 40.

Question 36: We began doing the test half an hour ago.
A. We have doing the test half an hour ago.
B. We have doing the test for half an hour.
C. We have done the test for half an hour.
D. We have begun doing the test half an hour ago.

Question 37: Vietnam will become an Asian dragon, and we hope so.
A. We hope that Vietnam becomes an Asian dragon.
B. We hope that Vietnam will become an Asian dragon.
C. We hope that Vietnam has become an Asian dragon.
D. We hope that Vietnam would become an Asian dragon.

Question 38: Because of the heavy rain, they couldn’t play the match.
A. The heavy rain prevents them from play the match.
B. The heavy rain prevented them from play the match.
C. The heavy rain prevents them from playing the match.
D. The heavy rain prevented them from playing the match.

Question 39: Liz wishes that she were in Vietnam at the moment.
A. Liz isn’t in Vietnam at the moment but she wants to be here.
B. Liz is in Vietnam at the moment.
C. Liz used to be in Vietnam some years ago.
D. Liz has many wishes in Vietnam at the moment.

Question 40: Tom and Jack are the same age.

A. Tom is as tall as Jack. B. Tom is as old as Jack.
C. Tom is as high as Jack. D. Tom is as age as Jack.
----------- THE END ---eeeeeee
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THE END




